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BEANRE SHTEEEAEENSIEE

£ g g - BKTE BfT 8 2 i ki £ m =

EERAEE 2,426, 867
HMSIFEER 2,426, 867
HMSIFEER 2,426, 867
HSFEE 2,418, 367
BREERE 587, 745
1 REERE 1.00 442,170 442,170

=
2 HMIERR 1.00 145,575 145,575

=
HSIFEE 1,558, 753
3 g - B 1.00 1,308, 112 1,308, 112

#H
4 KERBLIFEE 8.20 30, 566 250, 641

km
fRMT 145, 369
5 ERAEM 6. 40 22,714 145, 369
km

i - |E 126, 500
6 BATRE 1.00 63, 250 63, 250

]
1 BRHE 1.00 63, 250 63, 250

]
EERE 8, 500
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ISR FTHTEEERZARIEE

% g R - KSR Bifr B 2 B i & B W =
EEREE 1,373,166
HEHE 1,373,166 x 88.0% — 1,552 1,206, 834
REEHE 1,373,166 + 1,206, 834 2,580, 000
E R 1,045,201 + 8,500 1,053, 701
EEAGE 1,045, 201
BEiEEE 8, 500
T DR 1,045,201 x 53.85% ( 35% <+ (1 — 35%) ) 562, 840
RHRIE 1,053,701 + 562, 840 1,616, 541
—RERESE 1,616,541 x 53.85% ( 35% = (1 — 35%) ) — 7,048 863, 459
BEHES T 1,616,541 + 863, 459 2,480, 000
KBS 2,580,000 + 2, 480, 000 5, 060, 000
HETR SR L 5,060,000 x 10.00% 506, 000
HREEEE (I E 5,060,000 -+ 506, 000 5, 566, 000
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&5 1
& FEER

STEEEEEEHSEE

£ b g - BIRTE By = B ) M = 1%
HEnE
A 1.00 77,500. 00 71,500
FEHRAR (F%ET)
A 1.50 66, 900. 00 100, 350
HEm (A)
A 1.50 59, 600. 00 89, 400
Em (C)
A 0.50 40, 300. 00 20, 150
HIlE F A
A 1.00 60, 600. 00 60, 600
Bl S HAm
A 1.00 52, 300. 00 52, 300
Bl S H A
A 1.00 41,100. 00 41,100
MR LEEBEAEEDY
% 0.50 154, 000. 00 770
& i 1EZBER - 1.00 442,170.00 442,170
BES5:2
B BEAERR 1XEY
£ b g - BIRTE By = B ) M = i
BIEHEE
A 2.00 28, 700. 00 57, 400
JL—ftbSvY 438 2t/
B 2.00 41, 949. 00 83,898 5.80H / 8H
REBHE 54 kY 2
B 1.00 3,553.00 3,553 2.00H / 8H
MR LEEEDY
% 0.50 144, 851.00 124
& i 1EZBER - 1.00 145, 575. 00 145, 575
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STEEEEEEHSEE

53
£ EiE - B 1#AL Y
£ 5 L - BIRTiE BAf = B %5 = & &
FAEHED (F%E)
A 3.00 66, 900. 00 200, 700
HEm (A)
A 4.50 59, 600. 00 268, 200
RIS HRER
A 2.00 52, 300. 00 104, 600
B
A 2.00 41,100. 00 82,200
BIEWENE
A 6.00 28, 700. 00 172, 200
REE S4 kY 2L
B 4.00 3, 553.00 14,212 2.00H / 8H
SREM FRP D 70PSZ%! 3.0t
B 3.00 86, 091. 00 258, 273 |8H
MSIEEST WS MEEET3ME/H
B 2.00 18,077.00 36, 154
GNSS;BIfI & DGNSS
B 2.00 25, 740. 00 51,480
AT 0.5t@ Y
B 4.00 410. 00 1,640
REFEH 2kVA
B 6.00 2,427.00 14,562 8H
Z22TLb—29L—> 10t @A
B 2.00 47,000. 00 94, 000
HEMH MR EEH 0%
% 5.00 197, 836. 00 9, 891
& B 1YE%HEH - 1.0048 1,308, 112. 00 1,308, 112
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BS54
& KEELZFEE 1B#Y (16.4km)
£ b g - BIRTE By = il ) M = & &

FEHRAR (F%ET)

A 1.00 66, 900. 00 66, 900
HEm (A)

A 1.00 59, 600. 00 59, 600
RIS HRER

A 2.00 52, 300. 00 104, 600
Bl S H A

A 1.00 41,100. 00 41,100
BEENF

A 1.00 34, 900. 00 34,900
BIEWHENE

A 1.00 28, 700. 00 28, 700
RO ERAK

& 5.00 1,130.00 5, 650
B RIEE R AR

& 3.00 1,500. 00 4,500
MM LRMHEHEDY

% 10. 00 10, 150. 00 1,015
REBHE 54 kY 2

=] 1.00 3,553.00 3,553 2.00H / 8H
RE M FRP D 70PS%! 3.0t

=] 1.00 86, 091. 00 86,091 8H
WS IEEEt WS IEREET3E /4

=] 1.00 18,077.00 18,077
BERIREE 1AM 200kHz

=] 1.00 10, 741. 00 10, 741
o4 F 0.5tA Y

=] 2.00 410.00 820
HEFER 2kVA

=] 3.00 2,427.00 7,281 8H
A=,

=] 1.00 2,030.00 2,030
GNSS:AIfI £ & DGNSS

=] 1.00 25, 740. 00 25, 740
& Hi YEZRESN 1 16,40k m 30, 566. 00 501, 298
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STEEEEEEHSEE

&5 :5
£ . EREN 100km¥ Y
2 b g - BIRTE By = BHO(f ) W = " =
FEHRAR (F%ET)
A 7.00 66, 900. 00 468, 300
AR (A)
A 10. 00 59, 600. 00 596, 000
HEm (B)
A 10. 00 48, 500. 00 485, 000
RIS HRER
A 5.00 52, 300. 00 261, 500
Bl S H A
A 5.00 41,100. 00 205, 500
BEBF
A 5.00 34, 900. 00 174, 500
Rvay HETABEDY
% 5.00 1, 549, 300. 00 71, 465
MR BIENEFEDY
% 0.50 641, 500. 00 3,207
& B YEZERES : 100.00k m 22,714.00 2,271,472
&S5 :6
¥ BATHE HEED)
2 b g - BIRTE By = BHoO(f ) W E " =
F{EHRAR (F%ET)
A 0.50 66, 900. 00 33, 450
AR (A)
A 0.50 59, 600. 00 29, 800
& Hi 1YEZHER - 1.00[E 63, 250. 00 63, 250
&5:7
£ EW|E HEED)
2 b g - BIRTE By = BHoO(f ) W = " =
F{EHRAR (F%ET)
A 0.50 66, 900. 00 33, 450
AR (A)
A 0.50 59, 600. 00 29,800
& Hi 1YEZHEH - 1.00[E 63, 250. 00 63, 250




REAR-ET/Avr—> AHTEEERATBHSER

5.8
& EFRER
£ 5 L - BIRTiE BAf % = B & % = & &
EBEHRME
= 1.00 8, 500. 00 8, 500
& Hi 1YE%HeRH 1,00 8, 500. 00 8,500




